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(1) Gt W T A Al %1 (All the questions are compulsory)
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What does the slop of displacement-time graph represent? 1
2. songwaeoﬂ{aa:ﬁmwfa-—gmw rmﬂ:ﬁqﬂaf@ﬂﬂ
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50N and GON forces are acting in opposite directions at a point.
Find out their resultant force. l -
3. - g fafa
Write the work-cnergy theorem.
4. - avera o e fafa)
Write the Pascal’s law.
5. THrer fafire STl - W R w7
 Molar specific heat capacity depends on what factors. |
6. @rd et waR ugt A e FEm =t | e € ge T
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A man with a wristwach on his band falls from the top of a
tower. Does the watch give correct time during the free fall? 1

7. g AT (w), HIoha a0 g (k) 9 9 A (v) § He
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 Write the relation between angular frequency (w) angular wave

number (k) and wave velocity (v). |
g. fawdg =t fture e
'Define beats. | 1
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44 gh
Pcrccglage errors in a,.b, ¢ and d in relation Z= cp are
1%, 3%, 2% and 4% respectively. Determine percentage error
in Z. 2
10. U WA wfta v farsdta wf 3 ferd mfi 3 it mdftseon i afinfg

fafy | sge= Fifag
Derive mathematically, the three equations of motion for a par-
ticle under constant acceleration in one dimension motion. 2

11. 23 F 7fa & fgda 7 g fas s
/ Explain the Newton's second and third law of motion. 1+1=2
12. w5 syt @ B2 v ©ifaw wre wEEET
What is moment of inertia? Explain its physical significance.
Vet 1¥4=2
13, frsll an m =i | P s e @ g s e
Derive on expression for work doné in stretching a wire. 2
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State Wien's displacement law. Drraw 2 curve between radiated
energy and wave length for a black body at different tempera-
ture. [+2=2

15, fag w0 f& smaad wan s, e g i e e
Prove that volume expansion coefficient 1s three times of Iin-

car expansion coefficient. 2

16. Tat w1 W fafaw ¢ @ mm C F ahow e v—-r:p
Write \111\(_1' s relation. \\ hy C, 1s grater then C 7 Va+1¥e=2
17. 27% dT‘I ‘T{ 1 A "T‘;T?!_"? il ﬂr"'-’ it 5 e o) B ."h
_~ Find the total kinetic energy of ne mol of mlrugc.u at ?.'h,
18. TTER UMTA U SWWET ain @ ufmn Zian
Define Doppler effect and st ationary wave. l+1=
. garey a1 QIO i U8 TAE T;rn e 4T | uE warE zﬁ
sfrwan Saré H a1 33297 %@ T & @ {55 &0 5 8H = gT
" Define projectile motion and give one example of it. Prove
that 8H = gT°. Where H is maximum height attained by a pro-
jectile and T 1s Time of flight of a projectile. Las Va2 =3
20. foz & fe Aum gamm & fguel <1 yoia: weny wfadm zear |
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Prove that in a head-on elastic collision, the velocities of the
bodys of cqual mosses are mutually interchanged. 3
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A force F=(3i-4}+5£-)N acts a point F=(— 2:’+}—3}’5)m m.
Calculate the value of torque about the origin. 1+2=3
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Derive the formula of variation in gravltauon acceleration w1th

depth fro surface of earth. At which depth from the surface of
the earth gravitation acceleration is zero?
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Derive the formula of excess pressure inside a spterical liguid
drop and soap bubble. * 3
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Exifl

A Carnot’s engine absorbs 100 calorie of heat from source at
400k and rejects 80 calorie of heat to the sink. Calculate the

- temperature of sink and efficiency of engine. 1Y2+1V2=3
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State the law of equiprtition of energy. Find the ratio of molar
heat capacities of menoatomic and diatomic gases. 1+1+1=3
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A particle executes simple harmonic motion according to the
-\
' =10 Sin| 2m + = | \ :
relation ; V= HUom| Zar 4 ¢ | metre. Find the displacement, ve-
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locity and acceleration of particle at t = 2 second.
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" Prove that the fundamental frequency of open organ pipe is

double that the closed organ plpc of lhc same length. Draw the

necessary diagram. 1V2+1%=3
(a)mmmﬁmlaﬁ'mﬁaﬂw?wmﬁm
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(a) State Torricelli’s principle. Derive the formula of velocity
of efflux. :
(b) Explam Magnus effect and heart.attack, = 1+2+1+1=5
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State Bernoullis prmcuple Denve the choulhs equation. Draw .
the necessary diagram. 1+3+1=5 .
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Give the statement of first law of thermodynamics. Define iso- -

thermal process and give two example of it.-Derive the for-
mula for work in isothermal process. 1+1+3-5 +
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Define adaibatic process and give two exampié uf it. Derive
the formula for work in adaibatic process. 1+4=5
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Derive the expressions of Kinstic energy. Potential Pnfrnv and

. total energy of a particle executing simpal hormonic motion

and explain the conservation of mechanical cnergy. Draw a
diagram between energy and displacement and ene rgy &
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Derive the formula of time period of a simple pendulum. Draw
necessary diagram. '
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